Day 1: Songyang Chen Contest 2 @ @

37th Petrozavodsk Programming Camp, Summer 2019, Friday, August 23, 2019 %%,

Moscow Workshops ICPC

Problem C. Milk Candy

Input file: standard input
Output file: standard output
Time limit: 2 seconds
Memory limit: 512 mebibytes
Calabash is now playing an RPG game on his computer. In this game, there are n unknown numbers x1, xs2, ..., T,

and m NPCs selling hints. The i-th NPC is selling ¢; hints. Each hint contains three integers, [;, r;, and
wj, which means Calabash can pay w; coins to buy this hint, and this hint can tell Calabash the value of
Ty, Tyt Ty Ty

The goal of the game is to figure out all the n unknown numbers. Clever Calabash knows how to buy hints
optimally, but NPCs are greedy: for the i-th NPC, Calabash must buy exactly k; hints from him. Note that a
single hint can’t be bought more than once.

This problem is much more difficult for Calabash. Please write a program to help Calabash find the minimum
number of coins he needs to pay to figure out all numbers, or determine that it is impossible.

Input

The first line of the input contains an integer T (1 < T < 10), denoting the number of test cases.

In each test case, there are two integers n and m (1 < n,m < 80) on the first line, denoting the number of unknown
numbers and NPCs.

Then follow m parts. Each part starts with a line with two integers ¢; and k; (1 < k; < ¢;), denoting the number
of hints the i-th NPC has and the limit for the i-th NPC.

Each of the next ¢; lines contains three integers, ;, r;, and w; (1 <l; < r; < n, 1 < w; < 10°), describing the
hints offered by the i-th NPC.

It is guaranteed that, in each test case, the sum of all ¢; is at most 80.

Output

For each test case, print a single line containing an integer denoting the minimum number of coins. If there is no
solution, output “-~1” instead.

Example

standard input standard output
111
-1

10
100
1000
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